Homework # 8 (Solutons).
(a) Llet An = (3=Yn, 3+ /0], them h/l(An={3}.

2. From theorem 4.3 wt know that there exists
re®  ct. a<r<b, We can use the Archimedian
principle fo choose meW s.t.  Jp < b-r,

D) Lt AnzL3-th, 4+ %] then A An=[34]
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©) Lt An =(G-V,4+L) | thow

Then the humbers O r+;mL—_fT< ,k=0,1,2,. ..

_lare all_ratonal  distinct  and satsfy

a<r<CK<b VK:0/1/2,-.-

3. Lt A= {_ré@_f r<é})+hen_ A is an upper
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| theorem 1.9.3 there exists Se€ Q 4 ae<S<a.

bownd of A "To show that &= supA we

Stnce Se A boq lemma 1.3.8  supA=a.

y ﬁ__A_n_= o0}  Observe that 0 ¢ An vn so
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06N An. Let xe NAn then xe(0,4) = x>0,
n=i n=|

Iy X0 then by the Archimedian principle———

meN, s.t. Lox = X§Am 2 XN An . Thus
=0 (s the on L‘j elt. in the (niersechon.
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